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Name: ______________________________
Chapter 3 Final Exam Review



Date: _​___________________  Hour: ___
1.  Use the One-to-One Property to solve the following equation for x.       [image: image76.emf]
a. [image: image2.png]s



   

b. [image: image3.png]128



   

c. [image: image4.png]


   

d. [image: image5.png]e



   

e. 2
2.  Use the One-to-One Property to solve the following equation for x.   [image: image6.png]Wl
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a. [image: image7.png]W=



   

b. [image: image8.png]


   

c. [image: image9.png]


   


d. [image: image10.png]o=



   

e. [image: image11.png]2=







3.  Let Q represent a mass of radioactive radium (226Ra) (in grams), whose half-life is


                  

     1599 years. The quantity of radium present after t years is
    [image: image12.png]=
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     Determine the quantity present after 300 years. Round to the nearest hundredth.
a. 0.88 g   
b. 5.00 g   

c. 4.39 g   

d. 0.47 g   
e. 0.00 g
4.  Rewrite the logarithmic equation [image: image13.png]


 in exponential form.

a. [image: image14.png]


   
b. [image: image15.png]


   

c. [image: image16.png]


   
     d. [image: image17.png]


  
       e. [image: image18.png]gl6






5.  Rewrite the exponential equation [image: image19.png]


 in logarithmic form.

a. [image: image20.png]log;125 =




   

b. [image: image21.png]log,,s5 =



   

c. [image: image22.png]log. L = _-
085735 =



   
d. [image: image23.png]log,125 =




   

e. [image: image24.png]log, ~L_ =
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6.  Write the logarithmic equation [image: image25.png]


 in exponential form.

   

a. [image: image26.png]10° = 1.609.




   

b. [image: image27.png]1609



   

c. [image: image28.png]1.609.




   
d. [image: image29.png]7303 x10° =

.609. ..



   
e. [image: image30.png]1.609.
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7.  Write the exponential equation [image: image31.png]2112 Z 1 6487,




 in logarithmic form.

a. [image: image32.png]log,y(1.6487...) :%



   
b. [image: image33.png]In(1.6487...) :%



     c. [image: image34.png]2.30310g[ ] =1.6487...
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   d. [image: image35.png]In(1) =
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e. [image: image36.png]1)
ln[ E] =1.6487...







8.  Identify the x-intercept of the function [image: image37.png]Ax) =2 In(x-3)



.
a. The function has no x-intercept.   
b. [image: image38.png]


   
c. [image: image39.png]


  
 d. [image: image40.png]


   
e. [image: image41.png]



___






9.  Solve the equation log (2x + 1) = log (x + 7) for x using the One-to-One Property.
a. 0    

b. 6    

c. 2    

d. 8   

e. The equation has no solution.




10.  Rewrite the logarithm [image: image42.png]log,142



 in terms of the common logarithm (base 10).




a. [image: image43.png]log3logl42



   
b. [image: image44.png]log142



   
c. [image: image45.png]log142

Tog3



   
d. [image: image46.png]log3
Tog142



   
e. [image: image47.png]log142
Tog, 10





11.  Find the value of [image: image48.png]log,21



.   Round to three places.
a. 21  

 b. 3.345
   c. 3.045
   d. 2.771
   e. 0.361
_


12.  Evaluate the logarithm [image: image49.png]log,42



 using the change of base formula. Round to 3 places.
a. 7.273   
b. 1.921   
c. 0.521   
d. 1.623   
e. 3.738

13.  Simplify the expression [image: image50.png]log;150



.

      

 a. [image: image51.png]2log,6



   
b. [image: image52.png]30log;2



   
c. The expression cannot be simplified.        d. 6     
e. [image: image53.png]2 +log;6





14.  Simplify the expression [image: image54.png]1083[

s



.

a. 4   
b. The expression cannot be simplified.   
c. –108   
d. 1   
e. –12

15.  Find the exact value of [image: image55.png]Ine?™ — In /e



 without using a calculator.
a. 1.25   
b. 2.5   

c. 5   

d. 3   

e. 2

16.  Condense the expression [image: image56.png]7( logz— logy )



 to a single logarithm.
a. [image: image57.png]


   
b. [image: image58.png]7( logz— logy )



   
c. [image: image59.png]


   
d. [image: image60.png]


   
e. [image: image61.png]




17.  Expand the expression 
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e. The expression cannot be simplified.

18.  Determine whether or not [image: image67.png]oy



 is a solution to [image: image68.png]3¢-3_g1



.



a. no   

b. yes

19.  Solve [image: image69.png]


 for x.




a. -3   

b. 1   

c. -1   

d. -5   

e. no solution

20.  Solve for x:   2x + 1 = 5




a. 13.291   
b. 10.518   
c. –13.291   
  d. 1.322 
e. –3.794




21.  An initial investment of $3000 doubles in value in 8.3 years. Assuming continuous




    compounding, what was the interest rate? Round to the nearest tenth of a percent. 





a. 100%   
b. 8.3%   
c. 3.6%   
d. 8.4%   
e. 4.2%



22.  A $9000 investment grows at an annual interest rate of 5% compounded



    quarterly. What is the investment worth after 10 years?

a. $13,241.65 
b. $1,000,791.04   
c. $14,792.58   
d. $14,831.08   
e. $14,246.17   


              23.  The population P of a culture of bacteria is described by the equation [image: image70.png]P = 1600e"V%



,

                                  where t is the time, in hours, relative to the time at which the population was 1600.

(a) What was the population at [image: image71.png]


 hours?

(b) After how many hours will the population reach 8000? Round to the nearest tenth  

    of an hour. 
  
24.  Graph f(x) = –2ex




25.  Graph f(x) = log(x – 1)
[image: image1.png]128
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Answer Section      1.  A 

2.   B
          3.  C
          4.  C
         5.  C

  6.  B




  7.   B                   8.
C
      9.  B
      10.  C
       11.  D
        
12.  B




 13.  E                 14.
E
    15.  E
      16.  E                17.  B

18.  A





 19.  A                 20.
D             21.  D               22. C

       23a. ≈ 2186
        
23b. ≈ 31.0 h
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